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(FA) =5x+2y=5x2+2x(-3)=4
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. A=2a-5b




© nr

rlo

m0, m 02 35A W, o 5o B e 4
S 445 et =, oA B el 4 gk Sk 49
%7} ohiet,

O fatasolBg felsoltt,

© A%olBE felfolth

© 958 1 & 2%3A) Gk FRLSE, B4 e 4

k. =, §94471 oheh,
® A%oln g fel4olt
® AA4ol B feisoltt,




ol
e
o
il
Njo

oln




ol

RS

A
™
R
m3

© -3.141592---

® 0.3151515---

11
2X5XT

81
2 x 32

2X5XT7

® 6,6 ®

GRCNGC)

® o606

©) [GRCNC)

ONCRCNC)

ny

<A

i

k-

iy

it

<

<

5

il

A

1jo

o A

g
3]

4 %

R e R
AT
TR e e
A OF < <R o 4 <@ oF oF

FOQOO®O®ORO




A ZFO.
o 1

7t o, A9 3 F 7t

stofet,

<]

Qg T

-

ul

rY

o

whebAq 71 2he 244 3 ol

of uj4-o]ofof




10. o= H27]9] A & &2 A& 27 &t

H7]
@ a’?xa?xa®=a'?
© 2 x 28 xy3 = yiz3
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ax4=4,a=1
3x4=b, b=12
c* =81, c=3
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® (3a)? x a® = 9a*°
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@ a® xa®xa® =a'
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® (2a)3 = 8a*

® (3a)? x a® = 9a”
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@D 6ab + 3a x 2b = 4b?
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(FH) =3x2-ax-T-x>-2x-b
=2x2-(a+2)x—(7T+D)
=cx?> +5x-4

2=c,—(a+2)=5-(T+b)=-4

La=-7,b=-3, c=2
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O x*-4 @ x2-16 @ xt-4
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(2 -4)(x2+4)=x*-16




20. (x+a)(x-5)=x*+bx+15 4 W, q, b O] F2?

@® a=-8, b=-8 @ a=-8, b=-5
(@)az—S,bz—S @ a=3,b=5
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(x+a)(x=5)=x2+ (a-5)x—5a=x*+bx+ 15
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@ (a®)? +a? @ a®xa?

® axa® @.)a2—|—aQ—|—az—|—a2
1

® §a2(a2—|—a2)
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Bl (x+y)°+ (x-y)* & s] Hejstul?

O x2+y? @ x%+ 2xy +y?
(@)2x2+2y2 @ 2x% + xy + 2y?

® 2x% + 2xy + 2y?

(2 + 2xy + ¥2) + (22 = 2xy + y2) = 2x% + 22
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@—4x2 + 18xy — 18y?
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(2x+3y—4)(2x -3y +4)

@ 4x? -y +y-16 @ 4x? -y* +9y-16
® 4x>-9y* +y-16 @ 4x% +9y? — 24y - 16

@4x2 —9y% + 24y - 16
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{26+ @By- 9} {2x - By -4)}
3y—4 =12 59
(2x+1)(2x—1)

=4x2 -7

t=3y—-4E HYstH

4x? — (3y — 4)?

= 4x% - 9y? + 24y - 16




